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Winter Addition

Solve the following word problems.

On Monday, a town received 3.27 inches of snow,
and on Tuesday, it received 2.74 inches. What was
the total snowfall in inches over these two days?

Emily used 1.25 gallons of antifreeze in her car.
Later, she added another 0.67 gallons. How many
gallons of antifreeze did Emily use in total?

A snowman is 4.15 feet tall. After a heavy snowfall,
the snowman grew by 1.37 feet. How tall is the
snowman now?

A winter jacket costs $45.39. The gloves cost
$15.46. How much do the jacket and gloves cost in
total?

A snowball grew by 0.95 inches after rolling down a
snowy hill and then gained 1.34 more inches after
rolling further. What was the total increase in size
in inches?

Anna ice skated for 1.75 hours in the morning and
continued for 2.25 more hours in the afternoon.
What was the total time she spent skating?

A sled traveled 1.38 miles down a hill. It then
traveled another 2.15 miles. How far did the sled

travel in total?
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